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QUESTION 1

If multiple patterns are matched in a dial plan, which of the following describes how SIP Server could determine which
pattern match to use? (Choose 2 answers) 

A. First Valid match 

B. Lowest Dial-plan-rule-(number) 

C. Most specific match 

D. Last Valid match 

Correct Answer: BC 

 

QUESTION 2

What is the default timeout defined in the SIP specification after which SIP Server will put a DN not responding to
INVITE in Out of Service? 

A. 2 Seconds 

B. 4 Seconds 

C. 8 Seconds 

D. 16 Seconds 

E. 32 Seconds 

F. 64 Seconds 

Correct Answer: E 

 

QUESTION 3

Which of the following is responsible for sending "302 Moved Temporarily"? 

A. Registrar 

B. Stateless Proxy 

C. Stateful Proxy 

D. B2BUA 

E. Redirect Server 

Correct Answer: A 
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QUESTION 4

What is the response to REFER when the REFER method is used? 

A. 200 OK 

B. 202 Accepted 

C. 183 session in Progress 

D. C ACK 

E. C NOTIFY 

Correct Answer: A 

 

QUESTION 5

Which statement is correct? 

A. Each SIP-capable endpoint can be used in 3PCC, but not IPCC. 

B. SIP Server supports both 1PCC and 3PCC. 

Correct Answer: B 
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